Task 1: Balancing
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Create your own balance problems with an answer of [] = 4.
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Task 2: Find the value of A in each balance.
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Task 3: Find the value of A in each equation.

1 2A4+1=7 11 2A=A+17
2 2A+5=9 12 3A =2A+5
3 3A+1=10 13 4A = 2A + 8
4 SA+1=11 14 5A =3A + 10
5 3A +2=14 15 8A = SA + 6
6 4A +2=10 16 12A =8A + 4
7 SA+3=8 17 4A = A + 15
8 2A +9 =16 18 6A =4A + 17
9 4A + 6 =12 19 3A +4=5A
10 4A + 10 = 15 20 A+7=3A

21 2A+1=A+4
22 3IA+4=2A+6
23 4A+7=3A+ 10
24 SA +2=3A+38
25 3A+8=A+10
26 6/ +1=4A +2
27 2A+7=3A+5
28 6A+5=9A +4
29 4A +5=TA + 1
30 9A+1=A+13

Write your own equations with a solution of A= 6.

Easy:

Medium:

Hard:

Find the value of A in each equation, leaving each answer as a fraction.

31 3IA+1=11

32 6/ =2/ + 13

33 6A +2

34 SA +1
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35 8A +9=6A + 10

36 3IA+T=TA +2

37 9A + 6A =12+ 5A

38 INA+2=2A+17
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Task 4: Solve each equation both visually and algebraically.
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Task 5: Write down and solve the equation shown in each bar model.

X 18 3x 9 2x 30
30 42 5x
4x 12 3x 40 7x 8
2x 30 8x 15 X 50
3x 40 3x 31 2x 13x 4.4
46 2x 9x 11 3x 44 .4

S5x+4=x+16

*Choose your own equation, following the pattern




Task 6: Negative numbers recap

a 9-[ |=4 |b 94[ |=4 |co9-[ |=—4 |d o4 |=-4
e [ |-8=15 | f [ ]+8=15 |9 |-8=-15|h[ |+8=-15
i 54 =21 ) 5-— =21 | k5-— =-21| 15+ = -21
m —14=3 |n +14=3 |o] |-14=-3|p[ ]|+14=-3
a 64 |=17 |r 2-[ ]=9 |s -13-4= t[ |-1=-15
ul ]-7=-19|v [ J[+8=-6 |Ww —11=0 | X +16=0
Task 7: Solve each of the following:
a x+4=12 b x—4=12 C xX+4=-12 d x—4=-12
x = X = x = X =
e 4x = 12 f 4x = —12 g —4x =12 h —4x = —12
i 3+x =15 J 3—x=15 k 3+4+x=-15 I 3—-x=-15
m —-34+x=15 n -3 —-x=15 0 —-3+4+x=-15 P —-3—-x=-15
q 3x =15 r —3x =15 S 3x = —15 t —3x =-15
x X 15 15
u E_g v E——S w ?=3 X 7:—3
Task 8: Simplify each of the following:
a 3x —7x b 3x+y-—-2x—-4y € S5x+2y—6x—2y | d —3x+y+5x—2y
e 3(2x — 5) f  3(-2x+5) g —3(2x + 5) h  —302x-5)
i x+3(2x—-5) j x—3(2x—=5) k —x-32x-5) Il —x+302x-5)




Task 9: Equivalent Equations
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Task 10: Fill in the shaded boxes

4dn+9 = 4n+ 5= —-24 =120 3n—-4 =
4n + 16 = -1 = 6n-12 = \ / 6n+2 =
\\ //4” 1 \ v
4n +6 = 26 6n -8 =40
2n +3 = 8n+12 = 12n-16 = 9n-12 =
6n+ 9= 30n- = 200
+21=30 4n + 56 = —35 =65 4n-14 =
Z2n+1 = \ / n+14 = 6n-21 = 2n—-6 =
- AN /
Yan+7 =10 2n—-7 =13
\
5n+ = 100 Yan+ =5 2n + 3 = 2n-17 =
+ 1% = 2V 8h— = 52

Task 11: Solving equations with negatives

8x+7=6x+19

8x+7=6x—19

8x—7=6x+19

8x—7=6x—-19

8x—19=6x—-7

6x+7=8x—19




Task 12: Solve each of the equations

a 4x-2=3x+1 b 3x—-4=2x+3 6x —7=5x—1 d 7x+8=5x+14
e 5x—9=3x-5 f 8x—-7=2x+5 6x —3=4x+7 h 7x+1=x-5
i 9x—6=5x+2 j 9x+4=6x+10 7x —5=5x—-2 | 3x—-4=x+1
m 4x —7 =x n x—1=%x—4 3x —4=x+9 P 6x+9=2x+1
q x—-7=x+1 r 4x—6=x 2x—5=§x+1 t 3x+4=5x-2
Uu 3x—-8=6x+1 v 4x = 6x — 8

x—3:zx+1
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2xZ 4x+2




Task 13: Solving Equations with Brackets

2(x +3) = 16

2(x—3) =16

2(5x+3) =16

2(x+3)=5(x—-6)

2(x +3) =5(x +6)

2(x —3) = 5(x + 6)

Task 14: Match the equations to their solutions

a 3Bx+2)=23x+6) |i 3(Gx—-2)=4(3x+6) x=0 x=6
b 2Gx+1)=4Qx+3) |]j 2(3x —4) = 4x + 3 x=0.5 x =65
c 9(x —2) = 3(x — 6) k 5(2x —3) =8x+1 x=1 x =

d 502x+1)=3C3x+4) |I 9x —1=2(4x + 1) x =2 x =8
e 3(6x+5) =44x+7) |m  22x—4=6(3x+2) x=3 x =85
f 8(x+3)=22x+13) |n 3Q2x-5)=22x+1) x =4 x=9
g 5Q2x—-1)=33x+2) |0 5(4x—3)=72x+3) x=5 x =10
h  4Bx-1)=2Gx+7) |[p 7(7x—4) =3(09x —2) x =55 x =11




